[bookmark: _Hlk103861754]Homework 7

Name__________________________

1) 	A is measured in metres per second.
B is measured in metres.
C is measured in seconds.


What unit is D measured in?






2) Henry is retired and has £160,000 invested in a pension fund. The fund earns interest at 5% per annum. At the end of each year Henry withdraws £16,000. How many years will Henry be able to withdraw £16,000?


















_____________ years.

3) Elliot wants to know how many pets on average people in his school have.
He asks the first 50 students who enter the school building how many pets they have, and records the data.

a) Explain what the population is in this example.





b) Explain what the sample refers to in the example.





c) Explain why Elliot may have introduced bias into his sample.







	Area
	Number of people sampled
	Number of people with a tattoo

	Scotland
	256
	32

	Wales
	165
	12


4) Below are data showing a sample of people in Scotland and Wales, and whether they had a tattoo.










State a statistical test that would be appropriate to determine whether this data provides evidence of a difference in people having tattoos between Scotland and Wales.


A. Z-test for two proportions
B. T-test
C. Paired t-test
D. Correlation test


5) Below are data showing a sample of people in Scotland and Wales, and whether they had a tattoo.
[image: https://lh5.googleusercontent.com/Rf2ObFth3UwwsXQNiNfGmE_RvtsRVh9xBgeru9jDRWCk1w9_ilrd3Lbi809YrPH-5jfYHmrEkBsdRLDfqgL5Mmgqu7s4w3a6RK-UCzms6YchL2V8hluS6wSfJQxXDMbtciQLy2aVCJ6VXx5Nu2QJ1mqswEB7kePMWTIzAjEsr3fFLbzqY5B2Z34Mdw]
Amy carries out a statistical test to determine whether this data provides evidence of a difference in people having tattoos between Scotland and Wales.
State one assumption of this test.






6) In a study, participants have their blood pressure taken. They are then asked to perform a song on a stage. After this, their blood pressure is taken again.
Which of the following tests might be used when investigating whether there is a difference between blood pressure before and after a performance?


A. Z-test for two proportions
B. T-test
C. Paired t-test
D. Correlation test




7) Below is a table for income tax in Scotland.
[image: https://lh6.googleusercontent.com/Z4YA9EwFGbveDiLjJCr8cVdsFLHB2uZTRlig1F--nUrzdUMmVkesaH6xChzGYd7tUDaL0UGcXx-E6ZyRleqJ4o0UFxIzWdfpPbaX283FRtOtdkbcW7tD71fyJbt3ruvK_ykAk3CiFn2jKv_jUeCm99sI8tqQeMqTZAV0f4kbvHVCRla-EfuDX7dTIg]
Calculate the income tax owed for a salary of £45,233.


























£__________________
8) In January 2022, Christian deposits an amount into a savings account. He makes no other transactions.
In January 2023, Christian has £1308.04 in his account. His bank account pays an effective annual rate of 6%.
Show that Christian deposited £1234 in January 2022.






















Key:
1. [image: https://lh4.googleusercontent.com/9BTAC8tKbeksaV9a8V5LgL85pFFFFkXEewcZ-qVGBEVRLwscc0uOfeBaeQ-xuYdVPQ1OfMJQY7YbuY13IKBRSelajBWuBehnr83R8xrAcVnQ6tqIfU-t742kFN1AXJgiW-wSRP0vz630tY8RALtg5Z7QK5lK6Wz-RdB0rgyk-eSKhoELv251LtXp1Q]
2. 14
3. All pupils in school, 50 chosen pupils, not random.
4. A
5. e.g. Sample is randomly chosen from population
6. C
7. 7019.62
8. Shown
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